Potencias de 10 (H)

61000

91000

301000

21000

64 =10

18 =100

64 + 1000

1610

68 =100

99 =10

Calcule los siguientes cocientes.

52100

4610

94 100

3510

11+10

45 =+-1000

36 +10

100+ 100

591000

33100
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Potencias de 10 (H) Respuestas

6+ 1000
0.006
91000
0.009
30+ 1000
0.03
21000
0.002
64 10
6.4
18+ 100
0.18
64 = 1000
0.064
1610
1.6
68 =100
0.68
99 10
9.9

Calcule los siguientes cocientes.

52+100
0.52
4610
4.6
94 - 100
0.94
35+10
3.5
1110
1.1
45+ 1000
0.045
36 +-10
3.6
100+ 100
1
59 +1000
0.059
33100
0.33
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